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Operations with Fractions

Clearly show required work. Check Carefully!

1. The cafeteria at JIS buys hot dogs in packages of 36. The hot dogs buns come in
packages of 20. What is the least number of packages of each product they can buy to

have an equal number of hot dogs and buns') 57 (2wts) Het d%s 180-34-5

36 2/9 LCM _)_9%8 22 g Runs  180+2D=9
2 b ’ . kages of
‘Z/E :{\3 2}-{’2_ LM » 23325 Answer » 5 package

ﬁ.g.s hot dogs and 9 package
2. Ji Soo budgets her $660 weekly salary as follows:
(2pts)

% to her savings account, %for her share of the rent, ~t-13- for the internet bill and — for

entertainment, and the rest for other expenses. How much money is left for other
expenses?

s 2.4l _L 660
E lO g o &

: Stx@w 22

30 30 §O+§o"§§ mrepml is k71899 is loft for other

eXpenses
3. Order the following fractions and decimals in or'der from least to greatest. (zprs)

L PTVRY
§ 4

=3 . =06 . “B3Y *3
4 : 5



4. Explain the following statement: When rewriting fractions with a common denominator.,
the common denominator can be any common multiple of the two original denominators,
however, using the least common multiple is the most convenient choice. (21

Ang common muH‘lple WUl work, however,
the LCM 15 the smallesl, Thie mukes
muViplication easier:

5. The R-Value of a building material measures how well the material keeps heat in or out.
The greater the R-value, the better the insulating capability. Use the table below. List
the materials in order from least to greatest R-Value. (zpts)

Material R-Value
Plywood ¥
2
Asphalt shingle 3>
12
Brick 2
3
Stucco 1
6
Wood siding 3
4
Wood shingle 11
12

Stucco, brick , as m\*,sw le, uooarJ od 6iding, wood |
e~ l =0. s
( ., ) 4 i ’3 ;b 5) 4 , 035 p
"
6. Compare. Use >< or = to complete each statement. (2pts) (Cose
3 (2) 2 : :
7 8 10 100



7. Express each fraction as a decimal. Tell whether the decimal is terminating or
repeating. (3pts)

6. .
= Bl
a)% e ON/S b)—;ﬂ 6)1.0 c) 3% S.625

Terrﬁlnah}q
&

40 Term Mde

a) 0.008 XK

9. Suppose you are building a tree house. You have a board that is « 1 long and you need

a board that is I%m long. How much should you cut of f? (2pt)

i SR ]
4% l% You Shouldl et 2],"2‘”,’ ofF. )
i)

k&z_ )_a '
12 F

20 _ ) = % 2 11

3 P (8 2

10. Rebecca spend three-eighths of the day away from home
on school days. She leaves home at 7 o'clock in the morning.

What time does she get home again? (2pts)

=2 CQL}hWS'%é\Z&E:
_.%5@ \glx 9 hovrs




11. Marie was baking a Vanilla Pound Cake using the recipe below. (3pts)
Vanilla Pound Cake

2 cups sugar

%cup unsalted butter, melted o

4 eggs
4 tsp vanilla

3% cups all-purpose flour

2 tsp baking powder
1 cup milk

a) She has 1% cups of flour left from the last time she was baking. How much more

flour will Marie need? | B e -
3L -12 ! Ohe needs |2 wmore cops  of flour
X 3 e
Jt-14
2‘2-_ 'i =

b) If she doubled the recipe, how much melted butter would she then need?

3 > J
_gle-_- %:\LS She. mou_Lol need |dcups of buHer.J

c) If Marie only had a measuring spoon that measured %Tsp, how many times wouldshe

need to use this spoon in order to measure out all of the vanilla?

——

LR mg - 6 | She would meed fo use |

=

3 ‘ the © 4
im wassffemﬂq \,o.nJc LLlﬂm.lej o

13— = e
12. You are hiking along a trail that is 2 km long. You plan to rest every 4 km. How
many rest stops will you make? (zpts)

STt e Ba 2. oMW
: - Al i | <4 -'E El
\Hw WM moke (5 rest S—fops.[




13. During ESP Maddie caught a fish that was 3%kg. Today she caught one that had a

mass of EE kg. What was the total mass of the fish? (2p1)
2
3%+ 2%

IS ] 31
20t 2_3@'0 3 20
L The total moss of dhe fish is 4l

14. Draw a diagram that illustrates the solution to 2-1 . Evaluate the expression and be
sure the answer is clear in your diagram. (2pts)

BB . 2+ - 2xeen

|
How man(j 7\5'3 are in 2?

Pnswer : 12

15. A rectangle is 22 cm long and 20 cm wide. Three quarters of its length and two-thirds

of its width are cut off. (3pts) :
Bk 816t
£ 33,164

2 y 2
a) How long is the remaining rectangle?

_22-Vo%, - 2i3-q44. 34T P13

he remammg r'ecTan le?
—l?>13
|9% - 34 % The width is (o%m
c) What ts The ar‘ea of The remaining rectangle?
A Ixw
A- sAxbl

AL x2": 10 .[36 % o]
2,3 a
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